TSF

F£14E BiR-BEERNAR—YDVDEFARE—RFRT— RS

ER25%F128218 (L)
BEINETHNATURRAR—Y 52— B Y

* * * NXIEFLF NFE 15F ZF 250 m * * *

RECHK 3514 K FIE (#BlIss) H21

Bz | %8 & No. K % i B B A L fHIER Fvy | B E
1 1 = 102 FAE OV BN RE—R R —h DR 43.02 1

2 1 R 104 HEFEE EINERE—F R —NES D EM 43.62 2

3|1 = 103 KiZ i EAEBAE—R R — kDM 47.07 3

411 #® 101 FWRESH EINERE—R R —MES D ER .59.23 4
* k¥ ARIRRIR DF 15 LF 500 m * * *

=EOER 1430879 AIK E1E (#BlIIsS) H21
Bz | %8 @ No. K % i B A L fRIEGL Fzvy | B &
1 1 2 102 FE OMf- B RE—R R —h D ER 1.24.56 1

2 |1 # 101 TR ED ENERE—F Ry —EE L ER 1.34.29 2

3|11 #® 103 KIF s EARERAE —R R — D ER 1.34.66 3

4 1 =] 104 HEEE EIMNERE—FRy—NESVEM 1.44.41 4
* % % NHKIERFT MF 2F ZF 250 m * * *

EtDE 30796 BIK E1E (#8)ISS) H22
Bz | #8 @ No. K % i B N fRIERL Fzvy | K&
111 = 203 Bl #f HATERR—YDE .32.96 1

2 11 B 202 lLiE g EERE—FRT—FEH .33.96 2

3 | 1 & 201 INEF ORTE EINRAE—R R —NEESDER .38.80 3

411 #® 205 fngR FIFR EINEAE—R R —NEEDER 4553 5

511 . A 204 ER BHEF FEAE—FRy—rDER 42.89 4 | Op
* ¥ x NANEFRFT INE 2F LF 500 m * * *

SECER 1400704 K FIE (#B)ISS) H22
Bz | #8 @ No. K E i B B A L IR Fvy | B E
1 1 & 203 HA ®f A ERR—Y D EF 1.05.43 1

2 | 1 =] 202 lLE B EBERE—RRT—hDER 1.09.54 2

311 & 201 INEF ORTE EINRRAE—R R —NEESDER 1.16.54 3

4 | 1 % 205 h0gm F1AR EINERAE—R R —MES D E 1.42.08 5

511 &8 204 HEFT HRF FEAE—FRT—FDER 1.24.71 4 | Op




* % ok NHJEFFER /IVF 3F TF 500 m * * *

PN 52§37 AIK E1E (#B)ISS) H23
Bz | %8 @ No. K % i B A L fRIESL Fvy E &
1] 1 B 301 B [E5h BEEXE—RFRT—rLER 1.21.01 1
* * x ARIFMF DT 3F XF 1000 m * * *
=ik 1455870 M K8 (EESS) H24
Bz | #8 @ No. K % i B 24 L HIBRL Fzvy B &
111 5 301 B [E5h BEERE—FRy—rLER 2.38.05 1
* ¥ x DNARNEFRFT INE 4F LF 500 m * * *
RECH 49819 RA RD (FmSSS) H15
Bz | #8 @ No. K E i B B A L IR Fvy | B E
1|2 = 401 IRME KEt EERE—FRT—r D ER 51.67 1
2 | 2 & 408 HH E# HABERR—Y D EH 51.84 2
3 |1 & 406 Bl BE EAEEAE—R R — D EF 1.01.00 1
4 11 A 403 AT FifE HBIIRE—R Ry —hDER 1.01.26 2
511 & 402 LG Hng BEERE—RR7—hDEM 1.01.34 3
6 | 2 & 405 FrFH EB SEARBAE—R Ry — D ER 1.05.51 4
712 A 404  KIF BH EAEEAE—R R — D EF 1.06.80 5
8 | 1 % 407 fNfk = AR AE— R R —h D ER 1.14.56 4
9 | 2 & 400  HE)Il R FEAE—FRT—rLER .54.92 3 | Op
* * *x NHIBGIR MF 45F KF 1000 m * * *
g 19541786 FK B (F#ESSS) H15
Bz | %8 & No. K % i B B A L fHIER Fvy | B E
111 = 401 FRME K BERE—RR—hDEM 1.50.54 1
2 | 1 =] 408  HHEHE HASERR—YDEM 1.52.06 2
3|1 & 403  BAEF FifE HBIIRE—R R —h D EM 2.06.28 3
4 |1 # 406 Rl BE AR AE—R R —R 2.07.96 4
5|2 = 402 L% HEAE EEAE—RRT— D ER 2.12.46 2
6 | 1 & 404 KIF BfE EARBAE—R Ry — D EM 2.19.19 5
712 B 405 FTFHE =B SEARHMAE—R Ry —R D 2.24.37 3
8 | 2 =& 407 Nk b= EAEBAE—R R — kDM 2.34.43 4
9 | 2 | #& 400  E)Il R FHEAE—FRT—LER 1.58.12 1 Op




* % ok NHJEFFER /IVF 585 TF 500 m * * *

PN 3 47702 Hk EK (B/MISSES) H17
Bz | %8 @ No. K % i B A L fRIESL Fvy E &
111 & 502 HK ¥ BN RAE—R R 7 — 4 .48.85 1
2 | 2 % 501 EREE EERE—FRT—hDEM 50.77 1
3|2 = 505 B U SEARBIRE — R R — R ER 56.11 3
41 2 #® 503 PAH ®BE EAEEAE—R R — D E .59.00 4
511 A so4 AL RE SETIRET RE —R Ry — kD 1.04.38 5
6 | 2 A 507 #)l & FHEAE—RRy—rDER .53.02 2 | Op
711 &% 506 E At ZUIR FEAE—RRT—RDER .55.49 2 Op
8 |1 = 511 A RE ENRT—RDEF 1.00.23 3  Op
9 | 1 = 510 | E% &5 FERAE—RRT—hDEE 1.00.45 4 | Op
101 ®& 509 INEE £ FEAE—RRT—RDER 1.06.57 6 Op
11| 2 & 508 i Bt FERAE—RRY—rDEM 1.09.45 5 Op
* x x NRERET /NF 5F ZF 1000 m * * *
=i 14335790 K EE (BENKSSES) H17
Bz | #8 @ No. K % i B 24 L HIBRL Fzvy B &
111 & 502 EIK FETE BINRAE—F R — D EH 1.42.33 1
2 |1 * 501 EA EE EERAE—FRT—FEH 1.42.83 2
311 & 505 BR OMVEC SEAIRBIRE —R R — kD ER 2.04.62 4
411 A 503  f2H W& EAEEAE—R R — D E 2.14.71 5
51 2 % 504 A T ETRATAE—R R — R 2.25.82 5
6 | 2 © 506 et BUFR FHERAE—RRT—rDEF 1.49.88 1 Op
711 = 507 #l & FEAE—FRr—RDER 1.57.77 3 | Op
8| 2 508 FEEEA RATE FEAE—RRT—RDEF 2.02.65 2  Op
9 | 2 & 511 #K BRE ENRT—rDER 2.09.06 3 | Op
10| 2 = 510 | P8 &5 FEAE—RRT—RDEF 2.15.10 4 | Op
1111 B 509 /NERE FEAE—RRT—rDEF 2.26.74 6 Op
* % % NFIFFEX /NF 68 LF 500 m * * %
=ik 45803 =l g (BkPaz) H20
Bz | #8 @ No. K E i B B A L IR Fvy | B E
1 1 ® 604 &Il FHE A ERAR—Y D ER .50.95 1
2 |1 & 602 f2H EE EAEEAE—R R — D EF 51.67 2
3 | 1 =] 603 EfE B3R EAIRATAE—R R — D EF .51.88 3
4 11 = 601 JKFEB Rk BINRAE—F R —r D EH 1.02.94 5
511 % 605  [NiE [FDH FEAE—FRT—rEF 52.50 4  Op
* x x NINERET /IF 6F ZLF 1000 m * * %
L 15317066 S B (BkPa1=) H20
Bz | %8 & No. K % i B B A L fHIER Fvy | B E
111 & 604 %)l FHE EABRRERR—Y D ER 1.39.49 1
2 11 % 603 ZEfE BE SEAREIRE — R R — D ER 1.40.31 2
3 1 = 602 EH = SEAIERERAE—R R — D ER 1.40.50 3
4 |1 = 605 N &0)75\ FHEAE—RRT—rDER 1.42.40 4 | Op




* k% ok NNEGFIFE PF LF 500 m * x %

PN 43718 INR FR(BRDa=4—I)L) H15

Bz | %8 @ No. K % i B A L fRIEGL Fzvy | B &
1 1 5% 710 FANE BAR FHEAE—RRT—rDER 44.85 1
2 | 2 & | 112 KEXE EINERE—RRy—hESDER 44,87 1
3|12 B 700 (I BTy Vortex 4493 2
4 | 2 = 703 EK 1K BN RAE—R R 7 — R 4EH 44.95 3
511 = 717 A &% BHNAE—R Ry —h D ER .45.05 2
6 | 1 A 705 R FEHTE HBIRE—R RS —rDER 47.96 3
712 & 708  HHIE EAERAR—Y D EM 47.99 4
8 |2 & 00 HE #BIRE—R R — D 52.05 5
9 |1 & 713 MRANE EREIRE —R R — D E [ 52.10 4
101 #® 701 FRES BEINERE—R R —ME S D ER 1.16.80 5
* x x NRNERFT FE XF 1000 m * * *
=ik 14y28%045 =l X (BETPa=4—IL) H20

Bz | #8 @ No. K % i B 24 L HIBRL Fzvy | B&E
112 = 703 EK IKE BINRAE—F R — D EH 1.31.74 1
2 2 #& 710 FXH BER FHRAE—RRT—hDER 1.32.30 2
3| 2 F 712 KE kETE EINMIRE—R R —MESDER 1.32.65 3
4 |1 = 709 Ll ETy Vortex 1.36.26 1
511 A 705 R FETHIE BINRAE—F R —r D EH 1.36.82 2
6 | 1 * M BEXE FHBAE—FRr—rDER 1.37.18 3
7] 2 & 708 |EH EARAR—Y D EM 1.39.36 4
8 | 1 =& 713 AR E ETRETAE—R R — R EF 1.49.90 4
9 | 2 & 706 & HE BINRAE—F R —R D EH 1.55.45 5
101 #® 01 TR ESH EIMIRE—R R — EA D ER 2.50.14 5




* % ok NHNEFGET FF LF 1500 m * * *

Ak 2413788 mE BEK (BEDa=4—IL) H22

Bz | %8 @ No. K % i B A L fRIEGL Fzvy | B &
111 ® 716 L DKL EIMIRE—R R —NEA D EH 2.18.13 1 58
2 | 1 = 702 EJK Rz BEIRE—F R —r D ER 2.23.58 2 58
3 | 1 =] 718 7Ly L3 SEAIRESAE—R R — > EH 2.25.97 3 =
4 | 2 # 719 ESN ER FHRRAE—RRT— D& 2.19.50 1
5| 2 ® ns_ RE B RS —rDEH 2.20.41 2
6 | 2 = 704 HIE —# BINRAE—RF R —rDER 2.24.39 3
711 & 707 f&H &b EARBAE—R R — D EH 2.26.62 4
8 | 1 & M HEKRE FRRAE—FRT—r D EH 2.26.79 5
9 | 2 & 714 = FRRAE—FRT—r D EH 2.30.48 4

10| 2 & 717 o #=% BRAE—RRY—DER 2.30.62 5

* x x NRNERFT FFE XF 3000 m * * *
SRR 445336827 AR D (BRPa=—4—)L) H18

Bz | #8 @ No. K % i B 24 L HIBRL Fzvy | B&E
112 B 719 EF ERR FEAE—RR7—RDER 4.39.30 1 5
2 | 2 # 716 REL DKL EINRAE—R R —NEESDER 4.39.77 2 | 5
3|12 & 715 RE B EIRT =D E 4.50.25 3 | 5%
4 1 1 F 702 i EJK Bz BINRAE—F R — D EH 458.65 1=
5|2 = 704 EHME —# BINRAE—F R —r D EH 5.01.85 4 =
6 |1 =2 714 BF FK FHEAE—FRy—rDER 5.04.91 2 | 5%
7 1 1 =] 718 4T LYY L3 ARSI RAE— R R —h R 5.05.96 3 =
8|1 #® 707 f2H #h EARBRAE—R Ry —r D ER 5.30.67 4 =




* % x NRIEFRR A—T> T F 100 m * * *

Bz | %8 @ No. K % r B A L fRIESL Fvy E &
1 1 &% 1 A ok BEINRAE—F R —h D ER .16.75 1

21 1. R 3 BEXRER SHARBAE—R R —R D ER .28.05 2

311 = 2 FRE KB BINRE—FRy—rDER 31.77 3




* k k NRIEAFK /NFE 1FE BF 250 m * * %

Ak 3807 =HE— (B%k>a1z) H16
Bz | %8 @ No. K % i B A L fRIESL Fvy E &
1 1% 156 =45 jE 3 EIMERE—R R —NEA D EM .36.73 1 CR
2 | 1 = 152 HT B HENRE—R R —R4ER .40.08 3
3| 1 & | 151 LiF 1ER BERE—FRYT—hDEM 4287 4
4 |1 = 154 @M EA SEATEERAE — R R —h MR .48.21 5
511 & 153 WA RE EREIRE —R R — D E [ 53.78 6
6 | 1 & 155 JAKEX FHERAE—RRT—rER .37.21 2 Op
* % * NXIERT ME 15F BEF 500 m * * *
SRR 1916706 Il £ (#B)1IsSs) H17
Bz | #8 @ No. K % i B 24 L HIBRL Fzvy B &
111 = 156 =5 im3k EINMEAE—R R —NEESDER 1.09.16 2
2 11 ® 152 BT B BINRAE—F R — D EH 1.17.33 3
311 =& 154 f2H EA EAEEAE—R R — D E 1.21.36 4
4 |1 & 151 LI (2R BEEXE—RR7—kDER 1.27.90 5
511 % 153 FBRA mEE SEAIRBIRE—R R — D ER 1.40.84 6
6 | 1 =] 155 N\ KEX FHERAE—RRT—rDEF 1.09.15 1 Op
* k k NRIERFK /INFE 2F BFF 250 m * * *
=ik 29#72 bt EA (BRPa=) H15
Bz | #8 @ No. K E i B B A L IR Fvy | B E
1 1 = 251 ER X EBERE—FRT— D&M .35.79 1
2 |l 2 & 253 Bm  EX SEAIRBIRE—F R — D ER .38.14 2
3| 2 B~ 250  HHEE EINERAE—R R —MES D E A41.47 3
411 & 255 Nk FRth SEARBAE—R Ry — D ER 43.76 3
5| 2 % 252 BEIK BEAER BIRE—F R — M 4452 4
611 = 258 UNMURNEZBE  ENBRE—FRY—LESVEM 49.12 4
711 &% %54 FE F ETIRATAE—R R — R EH .50.06 5
8|2 = 256 b3 £9iK FEAE—RRT—rDEM .34.67 1 Op
9 |1 B %57 FE B FEAE—RRr— D EM .37.42 2 | Op
* x x NAIEFFR IME 2F BF 500 m * * *
g 56F)51 it EA (BEPa1z) H15
Bz | %8 & No. K % i B B A L fHIER Fvy | B E
111 & 252 EIK BKER BB AE—R R 7 — D 4E 1.05.54 1
2 | 1 P 253 By EK SEARATAE —R R — D 4E R 1.22.13 3
3|1 = 259 HHEBE EINERAE—R R —ME S DM 1.28.30 4
4 |1 8 251 B BX EHERE—FRS—hDEM 1.28.55 5
51 2 255 ik iRt SEARSMAE—R Ry — D E 1.30.62 2
6| 2 B 258 UDMURNEZE]  EINKRE—FRT—FEALEM 1.48.53 3
711 A 256 b3 £9iK FHEAE—RRT—LDER 1.06.77 2 | Op
8|2 =& 257 FE E FHEAE—FRT—rDER 1.21.12 1 Op




* & k NRNEALFK /NFE 3F BEF 500 m * * %

K& 53%53 it A (BEPa1Z) H16
Bz | %8 @ No. K % i B A L fRIESL Fvy E &
1|2 = 352 FR[E KT BEINRAE—F R —h D ER .59.69 2
2 |1 2 | 31 ERKE ENERE—F Ry —EE L ER 59.80 1
31 1. A 34 AR EH HARERE —R R — D EH 1.06.69 4
4 | 2 | # 355 kR K EAIRERE —R R — D4 1.11.82 3
512 ®& 383 GBEF AR ETRETAE—R R — 1.23.80 4
6 | 2 A %7 EHBEKN FHEAE—RRy—rDER .56.29 1 Op
711 ® 36 J\K{ER FEAE—RRr—RDER 1.00.52 2 | Op
8 | 1 # 358 {EBE —IK FHEAE—RRT—rDER 1.05.52 3 | Op
* x x NRNERFT NE 3F FF 1000 m * * *
=ik 14y58%)08 Eith EAX (FERRKR—Y) H23
Bz | #8 @ No. K % i B 24 L HIBRL Fzvy  B&E
112 B 351 L XKE EINRAE—R R —NEESDER 2.01.00 1
2 |1 * 352 FRRRE KA BINRAE—F R — D EH 2.03.45 3
3|12 & 354 EEK Bt HARBAE—R R —R D ER 2.15.63 3
4 11 = 355 {EBR FTK SHARBAE—R R —R D ER 2.33.09 4
51 2 % 353 BN AR ETRATAE—R R — R 2.33.64 4
6|1 #® %7 BEHEEK FHEAE—FRy—rDER 1.55.44 1 Op
7] 1 E 36  J\K{ER FEAE—FR7—hDER 2.02.96 2 | Op
8|2 = 358 AR —E FEAE—FRy—rDER 2.15.27 2 | Op
¥ % ¥ NKIBRE /NE 44F FF 500 m * * *
=ik 48%071 it X (BkPa=) H15
Bz | #8 @ No. K E i B B A L IR Fvy | B E
Tl #®& 454 )| RE A ERAR—Y D ER .55.77 1
2 11 % 451 BRI B BINRAE—F R —r D EH .58.53 2
3 | 1 =] 452 ERAK &3 ETIRETAE—R R — D EF .58.77 3
4 11 = 453 RIFT K SEARERE—R Ry —r4ER 1.07.26 4
* x k NRIEFGTK /NE 45F BF 1500 m * * *
SR 2431504 it BAK (BEPa1z) H15
Bz | %8 & No. K % i B B A L fHIER Fvy | B E
111 B 454 B K& EABRRERR—Y D ER 2.52.22 1
2 |1 * 452 RK E3l SHARETRE — R R — D ER 2.56.18 2
3|11 & 451 BRI B BB RAE—R R 7 — D 4E 3.04.45 3
4 |1 = 453 RIFT K SEARERE—R R —h D ER 3.35.52 4




* & k NRIEALFK /NFE 5F BEF 500 m * * %

Ak 46781 it BgfE (BkPa1=) H14
Bz | %8 @ No. K % i B A L fRIEGL Fzvy | B &
111 =& 559 3gith @K EABRRAR—Y D ER 48.87 2
2 |1 2 A 558  =iE B HAGERR—YDEH .50.60 2
3|2 = 551 K¥E [EH EBERE—RRT—EH 52.12 3
4 |1 = 552 &L FE} HBIIRE—R R — D[ 52.17 3
5| 2 # 5538 EEEZE EAIRATRE —R R — > E 54.94 4
6 |1 #® 554 BE B EAIRETAE —R Ry — D EH 58.87 4
701 # 555 {EBRE B EARERE —R Ry — M .58.98 5
8 | 2 | * 556 TR {EE EAREAE—R R — D E R 1.05.67 5
9 | 1 * 557 IR RIEEH SHARBAE—R R —R D ER 1.11.79 6
10| 2 & 563 /IMUAKXK— ENERE—F Ry —EE L ER 1.15.25 6
11 | 1 = 561 LA &7y Vortex 48.76 1 Op
12 2 %% 560 TN Vortex .50.58 1 Op
* % * NKIERLFT /ME 5F BF 1500 m * * *
=ik 2524780 h#t /X (BkPa=) H16
Bz | #8 @ No. K % i B 24 L HIBRL Fzvy B &
111 ® 558 = iE EH HATERR—YDE 2.34.10 1
2 | 2 = 550 g A HATERR—YDE 2.38.06 1
311 A 551 K¥E [EH) EERE—FRT—FEH 2.49.04 3
4 | 2 A 552 K& &3 BINRAE—F R —R D EH 2.50.25 2
51 2 & 558 EE BEE ETRATAE—R R — R 2.52.07 3
6 | 1 # 555 AR BHAE SEAIRBAE—RF Ry —r D ER 3.18.66 4
711 & 554 R B3 ETRATAE—R R — R E 3.19.51 5
8 | 2 | # 556 TR IEE EAEEAE—R R — D E 3.30.48 5
9 |1 & 557 MR RIEEH HARBAE—R R —R D ER 3.55.63 6
101 = 560 LR K5 Vortex 2.34.16 2 | Op
11| 2 = 561 LA & T Vortex 2.56.64 4 Op




* &k NRIEALFK /NFE 645 BF 500 m * * *

K&k 42544 it BgfE (BkPa1=) H15
Bz | %8 @ No. K % i B A L fRIESL Fvy E &
111 & 657  BEO {F3h HAGERR—YDEH .48.52 1
2 11 B 652 NER IEA BREAE—RRY—hDER .49.86 3
311 & 653  RAK {HEk SEARBIRE — R R — R ER 54.89 4
4 | 1 =] 651 Eim B BHEAE—RR7—RDER .55.93 5
5 | 1 & 655  KIF Hif AR AE—R R —R D ER .56.72 6
6 | 1 = 658  BEA EX FINRT—FDER 48.93 2 | Op
* % % NKIERFT /MFE 65F BF 1500 m * * *
=ik 2715716 h#t Bt (Bk>a=) H15
Bz | #8 @ No. K % i B 24 L HIBRL Fzvy B &
1T 1 5 657 B0 {£3h AR ERR—Y D ER 2.32.65 1
2 11 = 652 NER 1A BEERE—RR7—RDER 2.48.10 3
3|11 & 653 RN HEk ETRATAE—R R — R 2.57.81 4
4 | 1 = 655  KIF HiR EAESMAE—R Ry —RDER 3.05.44 5
5 11 & 651 Eim B BEEAE—RR7—RDER 3.08.71 6
6 | 1 =] 658 BRI EX ENRy—rDER 2.33.99 2 Op




* k% ok NNEGFGIFE PF BF 500 m * x %

PN 38fb82 h#t B (BEPa=4—)L) H18

Bz | %8 @ No. K % i B A L fRIESL Fvy E &
1 1 # 761 KH EHE Vortex 42.20 1
2 | 1 P 773 EiEp R+ EJRT—RDER 4232 2
3 | 1 =] 777 KL £} HBIRE—R Ry —RDER 43.55 3
4 | 2  #® 774 A UK ENRT =D E 43.91 1
511 =2 YR AN EINERE—F Ry —EE L ER 45.52 4
6 | 2 753 (¥EEE HIK BHEAE—RRY—rDER 46.24 2
712 = 755 HM ¥t BB RAE—R R — R 4E .46.50 3
8 | 2 & 756 JKFE BEQ B RE—F R —hr D ER 46.87 4
9 |1 & 754 Rk EX BEERE—RFRy—rDER .50.60 5
* % k NHJEFGE FF BF 1000 m * * *
S 143198099 B £ (BES21=A—)L) H17

Bz | #8 @ No. K % i B 24 L HIBRL Fzvy B &
1 1 & 776 EIK BE BEIRE—F R —hADEM 1.26.11 1
2 | 1 =l 762 8K KE Vortex 1.27.29 2
3|11 & 775 Pk & EIRT = E 1.28.85 3
4 | 2 B 777 Rl 3 BINRAE—F R —h D EH 1.29.04 1
5|12 & 774 JIF K EIRT =D E 1.29.45 2
6 | 1 & 757 K% —1& EAEEAE—R Ry —h D E 1.29.51 4
712 = 766 WA #K Vortex 1.29.61 3
8 | 1 # 778 EM RiE EINMERE—R R —MEA D ER 1.29.62 5
9 |1 = 756  KFEEHED BINRAE—F R —R D EH 1.29.73 6
10| 2 & 768 B BiK BIIRE—R R —kDER 1.29.77 4
11| 2 & 765 fALL K Vortex 1.31.26 5
12| 2 | & 752 AN ENRRE—R Ry —hEAVER 1.33.44 6




* % % NKIFITK FFE BF 1500 m * * *

PN EE 2501776 it EA (BESa=4—)L) H21

Bz | %8 @ No. K % i B A L fRIEGL Fzvy | B &
1] 2 773 EiEp R+ FNRT—RDER 2.10.82 1 52
2 |2 = 776 LK BHE #BIRE—R R — D 2.11.78 2 5
3 3 7 761 KH EHE Vortex 2.12.86 1 e
4 | 4 & 765 L K Vortex 2.16.69 1=
514 #® 762 8K KE Vortex 2.17.06 2 5
6 | 4 = 775 Pk & FINRT—DER 2.19.13 3 %
713 = 768 H  BiK BENRE—R R —R DR 2.19.24 2 =
8 |1 #® 779 B8 EiK BHEAE—RR7—RDER 2.20.60 1 |58
9 |1 A 764 L GEK Vortex 2.20.86 2 =
10| 4 A 757 {EBE — EAREBRE—R R — D EH 2.25.26 4 | =
1] 2 = 766 LA XK Vortex 2.16.84 3

12| 2 = 751 Fig L2 EIMERE—R R —E S D E 2.16.88 4

13| 2 A 760 ZHE_ AR RE— KR — D EH 2.16.99 5

14| 2  #& 70 EKREBE HEREIRE —R R — D E [ 2.17.20 6

15| 3 A 769 211 5FKER EIMERE—R R —NEA D EH 2.19.93 3

16| 3  #& 778 M RiE EIMERE—R R —NEA D EH 2.22.06 4

17| 3 & 763 JbE S Vortex 2.22.95 5

18| 1 & 755 HM St BB RAE—R R — R 4EH 2.28.21 3

19| 4 & 172 R/ KH AR EAE — R R —h MR 2.35.12 5

20| 3 & | 759 AW EBME EARBRAE—R R —DEH 2.40.99 6

21| 1 &% 754 {REE EX BERE—FRT— D EF 2.44.15 4
21 =2 758 BIFT SEX SHARBRAE—R Ry — D ER 2.48.51 5

* x x NRNERFT FFE BF 3000 m * * *
=ik 445314704 HE T (BEDa=4—/L) H16

Bz | #8 @ No. K % i B 24 L HIBRL Fzvy  B&E
111 2 779 =B EX BEERE—RR7—RDER 4.43.62 1 5
2 |2 = 751 R =3 EINMERE—R R —MEA D ER 4.47.08 1%
3| 1 =] 764 fLLRERK Vortex 44925 2 =
4 | 2 | 769 21U 3FAER EINRAE—R R —NEESDER 4.50.01 2 | 5
5| 2 = 763 kUl S Vortex 45355 3 =
6 | 1 B 760 ZH@E= SEAIRBAE—RF Ry —r D ER 5.07.99 3 | 5%
711 & 767 {EALM E0Ek ENRT—RDEM 5.11.16 4
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